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Subject: English: 40x1=40
Read the given passage and answer the questions that follow:

On Saturday, December 12™, from 10 A.M. until 4 P.M., Carverton Middle School will be holding a
music festival in the school gymnasium. The special event will feature a variety of professional

musicians and singers.

Task Time Date
Make posters 1P.M.—-4P.M. December 5"
Set up gym 11 AM.—4 P.M. December 11"
Help performers 9AM.—-4P.M. December 12"
Welcome guests 10 AM.— 2 P.M. December 12"
Clean up gym 4P.M—-7P.M. December 12"

Interested students should speak with Ms. Braxton, the music teacher. Students who would like to

help at the festival must have written permission from a parent or guardian.

1. What time will the festival begin?

a. 10 AM. b. 11 AM. c. 1 P.M. d. 2P.M.
2. In line 2, the word feature is closest in meaning to

a. look b. keep c. include d. entertain

3. What job will be done the day before the festival begins?

a. Setting up gym b. Making posters

c. Cleaning up the gym d. Helping the performers
4. Who is told to talk to Ms. Braxton?

a. Parents b. Students c. Teachers d. Performers
Read the given passage and attempt the questions that follow.
When another old cave is discovered in the south of France, it is not usually news. Rather, it is an
ordinary event. Such discoveries are so frequent these days that hardly anybody pays heed
to them. However, when the Lascaux cave complex was discovered in 1940, the world was
amazed. Painted directly on its walls were hundreds of scenes showing how people lived
thousands of years ago. The scenes show people hunting animals, such as bison or wild cats.
Other images depict birds and, most noticeably, horses, which appear in more than 300 wall

images, by far outnumbering all other animals.
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Early artists drawing these animals accomplished a monumental and difficult task. They did not
limit themselves to the easily accessible walls but carried their painting materials to spaces that

required climbing steep walls or crawling into narrow passages in the Lascaux complex.

5. Which title best summarizes the main idea of the passage?
a. Wild Animals in Art b. Hidden Prehistoric Paintings
c. Exploring Caves Respectfully  d. Determining the Age of French Caves
6. In line 2, the phrase pays heed to is closest in meaning to
a. discovers b. watches C. nhotices d. buys
7. Based on the passage, what is probably true about the south of France?
a. Itis home to rare animals. b. It has a large number of caves.

c. Itis known for horse-racing events.

d. It has attracted many famous artists.

8. According to the passage, which animals appear most often on the cave walls?
a. Birds b. Bison c. Horses d. Wild cats
9. In line 6, the word depict is closest in meaning to
a. show b. hunt c. count d. draw
10. he waited for the doctor to call him in, Sam sat in the waiting room and read

the newspaper.

a. So that b. While c. Even if d. Besides when
11. our low annual fee, you will receive a 20% discount if you sign up this week.
a. Because b. While c. Because of d. In addition to
12. Ruby loves blueberry pie it is made with freshly picked blueberries.
a. whether b. because c. when d. asif
13. The noise from the lawn mowers louder as the morning progresses.
a. gets b. get c. have gotten d. are getting

14. Rahul comes to Pokhara once in a blue moon, thus | have not met him for years.

a. rarely b. frequently c. Never d. sometimes

15. Which onein incorrect?

a. A grain of sand b. A fragment of salt

c. A flake of snow d. Aray of light
16. Neither of my friends __ lately received a shot.

a. has b. had c. have d. has had
17. If you cancel the trip, you

a. will fine b. will be fined

c. will have fined d. would fine
18. She reached home _ 9PM.

a. on b. by c. at d. with
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The master had his servant the dog.

a. massage b. to massage c. massaged d. massaging
is she? She is the Principal of this school.

a. Who b. What c. Whom d. Whose

Which of the words is spelt correctly?

a. maintenance b. maintainance

c. maintinence d. mentenience

Raymond is ill fever.

a. with b. of c. by d. in
My father bought me flute yesterday.

a. a b. an c. the d. none
A number of boys failed in maths.

a. has b. have c. having d. to have
Two-thirds of the guests having meal.

a. was b. were c. have d. has
A pair of pants for sale.

a. is b. are c. has d. have
It started to rain while we tennis.

a. are playing b. were playing c¢. have played d. played

Unless you study sincerely, you good grades.

a. won'tget b. will get c. would get d. would have got
She was made in the party.

a. dance b. to dance c. dancing d. danced

Did you get your coat ?

a. wash b. washing c. towash d. washed

'He knew us'. The passive transformation of the sentence is

a. he was known by us b. we were known by him

c. we were known to him d. he was known to us

| saw him sing. The passive transformation of the sentence is

a. he was seen to sing b. song was sung by him

c. | was seen to sing d. I was sung

A person who changes his religious belief is called

a. rebel b. renegade c. konoclast d. heretic
One who sells sweets is

a. sweet man b. confectioner

Cc. stationer d. sweetish



35. | prefer tea coffee.
a. to b. from c. than d. by
36. Mr. Tamang the table an hour ago.
a. laid b. lied c. lain d. is lying
37. He asked me where
a. ismybook b.my bookis c. my book was d. all the above mentioned
38. Which of the sentences is correct?
a. | got the doctor sign the prescription b. 1 got the doctor signed the prescription
c. | gotthe doctor to sign the prescription d. | got the doctor signing to prescription
39. My niece has five cups of tea every day, ?
a. hasnthe b. hasn'tshe c. doesn’t he d. doesn’t she
40. Neither my teachers nor David_____informed me about the meeting.
a. has b. have c. are d. is
Subject: Mathematics: 50x1=50
41. How many subsets can be formed from the set A ={a, b, c}?
a. 3 b. 6 c. 8 d. 9
42. The price of a book including 13% VAT is Rs. 339, what is its price excluding VAT?
a. Rs. 300 b. Rs. 383.07 c. Rs.294.93 d. Rs. 44.07
43.  What is the last digit while calculating (6)'%?
a. 2 b. 6 c. 0 d.8
44, if x| Jy=(x+y)=(x-y)? then \[6 [ _]~/5 equals:
a. 5 b. 10 c. 15 d. 20
45. If the 20% of the price of a mobile setis 40, what is its original price?
a. 200 b. 8 c. 48 d. 32
46. Between any two rational numbers, there are
a. no rational numbers b. only one rational number
c. finite rational numbers d. infinite rational numbers
47. If a coin is tossed two times, what is the probability of the event of getting both
heads?
a. % b. % c. 1 d.0
48. There are 30 girls and 20 boys in a class. The percentage of girls in the class
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49.

50.

51.

52.

53.

54.

55.

56.

S7.

58.

59.

If x=y =2z and xyz =256, find the value of x.

a. 4 b. 8 c. 7 d. 16

The sum of the ages of 5 children having difference of 3 yearsis 50, the age of
the youngest child is
a. 6 b. 8 c. 4 d. 10

A triangle and a parallelogram are on the same base and between same parallel lines

then the ratio of the area of triangle to parallelogram is

a. 21 b. 1:2 c. 1.1 d. 3:1

The number of surfaces of acone is

a. 1 b. 2 c. 3 d. 4

The sum of the digits of a two digit number is 7 and their product is 12, then the
number is

a. 34 b. 43 c. bothaandb  d. none of these

If 25 pens cost Rs. 246, how many pens can be bought for Rs. 984?

a. 100 b. 85

c. 92 d. 95

According to the annual compound interest system, what is the formula to calculate

the annual compound interest on principle P, rate R and time T?

R R
a. P (1 + 100) b. P (1 + 200)

ApaS e

The area of equilateral triangle having side x is

b.lBZ

7 X
c. x? d. 4x

If the average of a and b is 15 and the average of ¢ and d is 20, then the

a. 3x

average of a,b,c,d is .

a. 16.25 b. 17.5 c. 35 d. 70

Two successive discounts of 20% and 75% is equivalent to a single discount
of

a. 80% b. 95% c. 55% d. none of them

If 5=2, then X—;X:?
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The solution of the equations 2x +5y =9 and x-y =1 is

a. (1,1 b. (1, 2) c. (2,1) d. (0, 2)

How many diameters can be drawn in a circle with radius 10cm?

a. 10 b. 20 c. 0 d. infinitely many

If k is the radius of a cylinder and h be its height then which of the following
represents the total surface area of the cylinder?

a. zk(k +h) b. 27k(k + h)

c. 7k°h d. %ﬂkzh

. K K .
If A and B are mutually exclusive events and P(A):§ and P(B) =7, find the

value of K.

6

a. 1 b. 2 C. 5 d.

oo

Minimum charge of electricity for 20 units is Rs. 80 and the charge for each extra
unit from 21 unit and above is Rs. 7.50 per unit. Find the cost of 30 units of
electricity.

a. Rs. 225 b. Rs. 305 c. Rs. 155 d. Rs.1675

Each biscuit with cubical size of dimensions 4 x 3 x 2 is to be put into a box having
volume 480 cubic units. How many biscuits can be put inside the box?

a. 20 b. 12 c. 10 d. 200

What is the order of the expression RR ?

a. p b. x C. % d.%

If the base area of a cone is 49n and its heightis 9, what is its volume?
a. 441rn b. 1477

c. 58rx d. 40

If N =240, Median class =50 - 70, cf =100, f =20, find the median.
a. 20 b. 60 c. 80 d. 70

In AABC, if a=9cm, b =12cm and ZC=30° whatis its area?

a. 108cm? b. 54cm? c. 27cm? d. 216cm?

If 5 is added to 3 times the one fourth of 16, the resultis

a. 27 b. 17 c. 16 d. 13

Express % into percentage?

a. 20% b. 30%

c. 28% d. 7%



72

73.

74.

75.

76.

77.

78.

79.

80.

81.

Set'A'

If the difference of the circumference of a circle with its diameter is 90cm, then its

radius is . (usenzgj

a. 21lcm b. 45cm

c. 15cm d. 66cm

A man bought 2 dozen of copies at Rs. 240 find the cost of such 10 copies.
a. Rs. 2400 b. Rs. 1200

c. Rs. 100 d. Rs. 200

A hydropower company has 20,00,000 shares. Find the dividend per share if it
makes a profit of 5,00,00,000 and 20% of the total profit is the dividend

a. Rs. 1,00,00,000 b. Rs. 4,00,000

c. Rs.5 d. Rs. 400

Which one is the factorized form of a*-a®+ 2a—1?

a. (@*+a—-1)(@-a+1) b. @®—a+1)(@*+a+1)
c. @*>+2a-1)@°-2a+1) d. @>-2a+1)(@*+2a+1)
What is the sum of all the interior angles of a quadrilateral?
a. 180° b. 360° c. 720° d. 90°

If (2y +3)cm and (y + 5)cm are the two opposite sides of a parallelogram, then the

value of vy is

a. 1
c. 3

. 3 .
If sinA = 5 what is the value of cosA?

4 16

a. 4 b. 16. C. ¢ d. 5
A card is drawn from a pack of 52 cards. What is the probability of getting the black
ace card?

1 1 3 2
a. 13 b. 26 C. 13 d. 13

If the perimeter of an equilateral triangle is 18cm, its area is

a. 9/3cm? b. 81\/3cm? c. 324cm? d. 162cm?
What is the length of QR in the figure?

a. 5cm b. 3cm

C. 2cm d. none of above

4cm
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If AcB, n(A)=40 and n(B) =60, then n(AuUB)="?

a. 40 b. 100 c. 60 d. 20

If & denotes the central angle and o denotes the inscribed angle standing on the
same arc of a circle, then the relation between them is

a. 0=« b. =2« c. a=240 d. <«

Mr. Deepak is running at a speed of 2m per second. What distance will he cover in

1 hour?

a. 72 km b. 72 m c. 720m d. 7.2 km

A 5m long ladder reaches 3m above the ground level. How far is it from the foot of
the wall?

a. 8m b. 4m c. 15m d. 2m

2@ . ,
If the volume of a sphereis ——, what is its circumference?

4
a. b. 4 c. 3 d.

WIN

If the mean of the data 8, 6, p, 14, 10, 16, 4 is 10, find the value of p.

a. 58 b. 60 c. 12 d. 70
How many quadrilaterals are there in total in the given figure?
a. 3 b. 5

c. 6 d. 7

If §:20, )Z—/:ZO, what is the value of §+§:?

a. 20 b. 21 c. 22 d. 25

If x—%:4, what is the value of x+%:’?

a. \/X) b. 5 C. \/1_2 d. none
g 7 / GENERAL KNOWLEDGE 15x1=15

qqTereRl afedl STAfagd IRATSAT %+ &1 7 Which is the first Hydro-electric project of Nepal?

a)  Kulekhani b)  Pharping c¢) Kaaligandaki d) Masyandi

TRTAT T ATRHT ATSTdTs Gaarsd de & &l ? Name the canal which divides Asian & African
countries?

a) Panama b)  Neel c) Suez d) Amazon

TATAHT TAT AT HAT Al GEATTH B T TR=HT AT A qSId GEATCH G 7 If

Eastern boundary of Nepal is Mechi river, name the river which is western boundary?

a)  Setiriver b)  Karnali river

c)  Mahakali river d)  None of the above

TR ATTGRT AR FEATs (=178 7 Who is known as Adikavi of Nepal?
a)  Sidhicharan Shrestha b) Laxmiprasad Devkota

c) Bhanubhakta Acharyad) Taranath Sharma
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& THiqHT s=riftga It fears ATfa=3 7 When is international Yoga Day celebrated?

a) 21 December b) 21 June ¢) 01 May d)  None of these
FT3T HIAT ITHT AU ... g1 ? Capital of South Korea is ?
a) Seoul b) Malaysia ¢) Indonesia d) Cambodia

qAT HATHT BTeTehl THE AT A& Bl &g ¢ Who is the present Chief of Army Staff of Nepal
Army?

a)  General Rajendra Chhetri b)  General Gaurav Shumsher Rana

c)  General Chhatra Man Singh Gurung d) General Prabhu Ram Sharma

F AT G <9 algq 7 Which is not a SAARC member country?

a) Maldives b) Afghanistan c) Bangladesh d) Myanmar

TIAT-TEl Igehl ATH foid= Sarel T 3 dreiebl qg Flediad Fledadqeq =(elebl [9a1 7
Period of Anglo-Gorkha war fought between Nepal and British Empire?

a) 1904 - 1906 AD b) 1814 - 1816 AD

c) 1884 -1886 AD d) 1912 - 1914 AD

SITAT ! {&TATs & W3 ? What is the currency of Japan?

a) Yen b) Ringgit c) Yuan d) Lira

TITAR] SITETTHT VI AAI A HIAdATs A3 7 In the history of Nepal which era yug is
known as Swarnyug?

a)  Gopalwans b) Keeratwans c¢) Mallakaal d) Licchhveekaal

A1 9 FHHTA eTel AqTeAhl ... qae FATAHAT (Har=id AU S 7 Shri Pushpa Kamal Dahal
has been elected times as Prime Minister of Nepal.

a)  First b)  Second c) Third d) Fourth

A ¥ ART qeaTdls G AUTARl A=A %A &l ¢ Anchal/Anchals of Nepal that boundary with
both India and China?

a) Janakpur b)  Mechi c) Botha&b d) None of these

FHT Q9 GYh A GIET FIIAGAR] AT I &e9 ? Which country is not a permanent
member in the United Nations Security Council?

a) Mexico b) China c) France d) Russia

I 2020 Summer Olympics @1 TATSIAT %+ <9TAT TR &1 7 In which country was 2020
Summer Olympics held?

a) China b) Malaysia c) South Korea d) Japan

Best Wishes to all our beloved students on the auspicious occasion of Rakshya Bandhan!

See Good, Be Good and Do Good.
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